halfords

Item Code: 570405 HALFORDS ADVANCED 6 DRAWER TOOL CHEST
570199 HALFORDS ADVANCED 3 DRAWER MIDDLE CHEST
570413 HALFORDS ADVANCED 6 DRAWER TOOL CABINET

Caution:
Read and follow all information in this owners manual before use.
Keep for future reference.

Halfords Ltd.

Redditch
B98 ODE



SAFETY

SAFETY WARNINGS AND CAUTIONS

To avoid personal injury or product damage in use:

* Do not open more than one drawer at a time, this weight transfer
could cause the unit to fall towards the user.

* Do not stand on the unit or infon the drawers.

* Always ensure the castor locks are on when stationary.

* Keep this product on an even, level surface to prevent it from
becoming unstable.

* When loading the drawers, place heavier items towards the bottom
of the unit.

* Do not exceed the maximum weight per drawer of 30KG.

* The maximum product weight including contents should be no more
than 260kg for chest, 120kg for middle chest and 300kg for cabinet.
* Not suitable for mounting on a truck bed or any other moving
objects.

* Ensure fingers etc. are clear of the drawers and lid before closing.

When moving this product:

* Ensure that all of the drawers and top lid are fully closed and locked
before moving.

* When moving on very uneven or un-level surfaces, unload the tools
and transport the units separately.

* Always push and not pull the product on the swivel castor side.

Contact your Halfords local store for service parts.




PART NAME QUANTITY
/ Side handle 1
M6 washer 4
% M6*12mm screw 4
5 M8*20 Bolt 16
M8 washer 16
(&) MS spring washer 16
@ Fixed castor 2
% Swivel castor w/ brake 2

ASSEMBLY

SIDE HANDLE ATTACHMENT:

o Slide the handle into the slots on the swivel castor
side of the cabinet.

o Fit the 4x M6 screws and washers through the
holes and into the threaded section of the handle.

iy

o Tighten all screws.

CASTOR INSTALLATION:
NOTE: The product is heavy, you
will need assistance.

e Lay the cabinet down on its back.
Use packaging material to protect the paint finish.

e Mount both swivel castors with brake on the same
side of the cabinet as the handle.

e Attach each castor using the M8*20 bolts, spring
washers and normal washers (4 per castor).

e Tighten all bolts with a spanner or ratchet.

e Return the cabinet to its upright position.

OPERATION

HOW TO REMOVE DRAWERS:

e Empty the drawer.

e Fully extend the drawer.

e Drawer slides have a black retaining clip.
To remove drawer, the retaining clips on slides
need to be released by pushing lever up (Left
Hand Side of Slide) and down (Right Hand Side of
Slide) simultaneously, and sliding drawer out.

Release




HOW TO RE-INSTALL DRAWERS:

e Fully extend the runners, carefully slot the
drawer back into the runner and press into the
cabinet. Some resistance is normal however if a
lot is felt, remove and realign.

( 7_§ P

LEVER RETAINING CLIP

MAINTENANCE

e For castors, use high quality bearing
grease, (yearly).

e Lubricate the slides, (twice yearly)

e Lubricate lock with graphite, (yearly).
e Periodically the drawer fronts, drawer
trim, and other surfaces should be
cleaned with a mild detergent and

water.

e Grease and oil can be removed with
most standard cleaning fluids. For
safety, use a nonflammable cleaning
fluid.

e |f drawer liners are supplied, it is
recommended they are used to
protect the finish inside the drawers
and to make the drawers easier to
clean. The drawer liners may be
cleaned with soap and water.

WARRANTY

e Please visit halfords.com/advanced
for information on warranty period
and full terms and conditions.




